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REEROME

55 1\ 2009 44 H 6 H~2009 49 H 30 H
# 20 201144 H 1 H~201149 A 16 H
% 3[\ 201344 A1 H~201349H 4H
#4108 2016 4-5 H 2 H~2016 410 A 19 H
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F=1 MIC range B U MIC

5 10E] MIC: t&/mL
B4 (50 FEHA) MIC range MICs MICg, MICgo
TEIC 0.25 -8 1 1 2
MRSA(330 #§)
VCM 0.5-2 1 1 1
2] MIC: f&/mL
Zl (HE@() ;%ﬁu MIC range MICs MICs MICgo
TEIC 0.25 -8 1 1 2
MRSA(360 #k)
VCM 0.5-2 1 1 1
5 3[A] MIC: gg/mL
[LEACS70) A MIC range MICso MICso MICep
TEIC 0.25 -8 1 1 2
MRSA(390 ¥k)
VCM 05-2 1 1 1
2 MIC: t&/mL
B4 (50 FEHA) MIC range MICs MICs, MICgo
TEIC 0.25 -8 1 1 1
MRSA(200 #§)
VCM 0.5-2 1 1 1

% MICs

*MICgo +++-

*MICqy ++++
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®2 MIC 2 KRU MIC BIEDMIER (LR=HKH. TR=21"%

<F 1A
MIC =
=0.06| 0.12 0.25 0.5 1 2 4 8 16 32 64 128 >128 | &FF
(p g/mL)
TEIC 0 0 8 137 136 34 13 2 0 0 0 0 0 330
(0.0) | (0.0) | (2.4) | (43.9)| (85.2)|(95.5) [(99.4) [(100.0){(100.0){(100.0)|(100.0)(100.0)[(100.0)
VeM 0 0 0 70 250 10 0 0 0 0 0 0 0 330
(0.0) | (0.0) | (0.0) | (21.2)| (97.0)|(100.0){(100.0)[(100.0)|(100.0)[(100.0) [(100.0)|(100.0) [(100.0)
<& 2ln
MIC -
=0.06| 0.12 0.25 0.5 1 2 4 8 16 32 64 128 >128 | &5
(pg/mL)
TEIC 0 0 1 121 173 46 14 5 0 0 0 0 0 360
(0.0) | (0.0) | (0.3) |(33.9) | (81.9) | (94.7) | (98.6) {(100.0)|(100.0)|(100.0){(100.0)[(100.0)|(100.0)
VCM 0 0 0 54 301 5 0 0 0 0 0 0 0 360
(0.0) | (0.0) | (0.0) |(15.0) | (98.6) |(100.0)|(100.0){(100.0)|(100.0)|(100.0){(100.0)[(100.0)|(100.0)
- 55 3[A]
MIC -
=0.06| 0.12 0.25 0.5 1 2 4 8 16 32 64 128 >128 | A&
(p g/mL)
TEIC 0 0 5 153 159 36 28 9 0 0 0 0 0 390
(0.0) | (0.0) | (1.3) | (40.5) | (81.3)](90.5) | (97.7) {(100.0)|(100.0)|(100.0){(100.0)[(100.0)|(100.0)
VCM 0 0 0 89 293 8 0 0 0 0 0 0 0 390
(0.0) | (0.0) | (0.0) | (22.8) | (97.9) |(100.0){(100.0)|(100.0)|(100.0)|(100.0){(100.0){(100.0)|(100.0)
< EA4A]
MIC -
=0.06| 0.12 0.25 0.5 1 2 4 8 16 32 64 128 >128 | &5
(pg/mL)
TEIC 0 0 3 79 101 7 6 4 0 0 0 0 0 200
(0.0) | (0.0) | (1.5) | (41.0) | (91.5) | (95.0) | (98.0) {(100.0)|(100.0)|(100.0){(100.0)[(100.0)|(100.0)
VCM 0 0 0 49 150 1 0 0 0 0 0 0 0 200
(0.0) | (0.0) | (0.0) |(24.5) | (99.5) |(100.0)|(100.0){(100.0)|(100.0)|(100.0){(100.0)[(100.0)|(100.0)
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